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P 100kN/m%#8%% | 1.00 | 000 ~ 266 141.94 |3mZEHBZD| — ~ — — — | 100kN/M%#82% | 1.00 | 1057 ~ 2381 141.94 |3m%EiBZ D - ~ — — —
FhLst 1.00 | 266 ~ 1045 100.00 | FTnLSY | 0.00 ~ 1045| 2.65 13.40 st 1.00 | 6.00 ~ 1057 100.00| FnLS | 6.00 ~ 2381| 2.65 13.40
2 100kN/mM% 25| 1.00| 000 ~ 2.74 143.22 |3mZ&#BABH| — ~ — — — | 100kN/mM%E#%25% | 1.00 | 1086 ~ 2887 14322 |3mE#BZ5b - ~ — — —
FhLst 1.00 | 274 ~ 1052 100.00| NS | 000 ~ 1062| 2.89 14.59 st 1.00 | 6.00 ~ 1086 100.00| FnLS | 6.00 ~ 2887 2.89 14.59
3 100kN/m%#8%2% | 1.00 | 000 ~ 3.08| 149.08 |3m%E#BZ5B| 0.00 ~ 0.06| 3.03 15.30 | 100kN/m#E#BZ25 | 1.00 | 10.72 ~ 34.03| 149.08 |3mZE#Z 3| 30.00 ~ 34.03| 3.03 15.30
FhLst 1.00 | 508 ~ 1087 100.00 | NS | 0.06 ~ 1087 3.00 15.16 st 1.00 | 6.00 ~ 1072 100.00| FnLS | 6.00 ~ 30.00| 3.00 15.16
4 100kN/m%#8z% | 1.00 | 000 ~ 206 131.91 |3mZz#Bz2| — ~ — — — | 100kN/m%#82% | .00 | 1229 ~ 3368 131.91 |3m%E#BZ5 - ~ — — —
s 1.00 | 206 ~ 985 100.00 | #nst | 000 ~ 9.85| 281 14.23 s 1.00 | 5.00 ~ 1229 100.00 | =nst | 6.00 ~ 3368| 2.81 14.23
5 100kN/m%E#8z5 | 1.00 | 000 ~ 1.53| 123831 |3mZz#Bz3| — ~ — — — | 100kN/m%#82% | .00 | 1097 ~ 1607| 123.31 |3m&E#BZ5 - ~ — — —
s 1.00 | 1.63 ~ 9.31 100.00 | =nLst | 000 ~ 931 | 2564 12.86 ThList 1.00 | 6.00 ~ 1097 100.00 | =nLst | 6.00 ~ 1607 2.64 12.86
P 100kN/m%E#8z5 | 1.00 | 000 ~ 1.48| 12246 |3mZz#Bz23| — ~ — — — | 100kN/m%#82% | .00 | 11.08 ~ 1600 122.46 |3m%EiBZ 5 - ~ — — —
Thilst 100|148 ~ 926 100.00| #nLS | 000 ~ 926|257 12.96 Thilst 1.00 ] 56,00 ~ 11.08| 100.00 | FnLS | 6.00 ~ 1600 2.57 12.96
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhs ~ ZhnLst ~ zhs ~ ZhnLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhs ~ ZhnLst ~ zhs ~ ZhnLst ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM%#8 %% ~ ImEEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#B2. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ IMEEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%{BZ. 5 ~ ImERBAD ~ 100kN/m%#8% % ~ ImEEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhLst ~ LSt ~ zhLst ~ zhLst ~




